
 

 

CSIR NET Life science answer key June 2016 

For Booklet B (Answers will be same for the questions but the 

question number will vary) 

Question No Answer Key  Question Number Answer Key 

1 3 76 1 

2 2 77 4 

3 1 78 1 

4 2 79 2 

5  80 2 

6 2 81 3 

7 2 82 4 

8 4 83 2 

9 4 84 2 

10 3 85 3 

11 4 86 1 

12 3 87 3 

13 3 88 1,3 

14 1 89 1 

15 1 90 3 

16 2 91 2 

17 3 92 3 

18 4 93 2,4 

19 3 94 3 

20 2 95 1 

PART B 96 4 

21 4 97 1 

22 3 98 2 

23 4 99 1 

24 2 100 2 

25 1 101  

26 1 102 2 

27 4 103 4 

28 4 104 3 

29 3 105 1 

30 3 106 4 

31 4 107 4 

32 2 108 4 

33 1 109 3 

34 4 110  

35 4 111 2 

36 3 112 4 

37 2 113 4 



 

 

38 3 114 4 

39 1 115 4 

40 3 116 3 

41 2 117 1 

42 3 118 1 

43 2 119 2 

44 2 120 2 

45 2 121 3 

46 4 122 3 

47 4 123 2 

48 2 124 4 

49 2 125 4 

50 4 126 3 

51 1 127 4 

52 1 128 1 

53 2 129 1 

54 1 130 1 

55 2 131 1,3 

56 1 132 1 

57 4 133 3 

58 3 134  

59 1 135 1 

60 1 136 2 

61 1 137 2 

62 3 138 4 

63 3 139 3 

64 1 140  

65 4 141 1 

66 3 142  

67 3 143 1 

68 2 144 2 

69 3 145 3 

70 1   

PART C   

71 4   

72 1   

73 2   

74    

75 4   

 

 

 

 

 



 

 

19. The volume of a triangular prism can be found by the formula: 

volume=1/2*length*width*height. 

23. 

 

55. 



 

 

 

Sourse : http://www.nature.com/nature/journal/v403/n6772/fig_tab/403853a0_T1.html 

63. 

The method combines a standard and efficient technique of mutagenesis using a chemical mutagen 

such as Ethyl methanesulfonate (EMS) with a sensitive DNA screening-technique that identifies 

single base mutations (also called point mutations) in a target gene. The TILLING method relies on 

the formation of DNA heteroduplexes that are formed when multiple alleles are amplified 

by PCR and are then heated and slowly cooled. A “bubble” forms at the mismatch of the two DNA 

strands, which is then cleaved by a single stranded nucleases. The products are then separated by 

size on several different platforms (see below). 

68 

 

http://www.nature.com/nature/journal/v403/n6772/fig_tab/403853a0_T1.html
https://en.wikipedia.org/wiki/Mutagenesis
https://en.wikipedia.org/wiki/Ethyl_methanesulfonate
https://en.wikipedia.org/wiki/DNA
https://en.wikipedia.org/wiki/Heteroduplex
https://en.wikipedia.org/wiki/PCR
https://en.wikipedia.org/wiki/DNA_bubble
https://en.wikipedia.org/wiki/Nuclease


 

 

75. 4 

 

 

76. 

Vmax = 3 umol/min  

 Vmax = Kcat x Et  

 and kcat = Vmax / Et = turnover number =   

77. 

78.  

 

Source: http://www.ncbi.nlm.nih.gov/pmc/articles/PMC1304820/ 

111. 

 

http://www.ncbi.nlm.nih.gov/pmc/articles/PMC1304820/

